
SUSNhUbU

.F. Lruprulrryuhfr rutn{rutr

luJh |rhurnfnnmtn>'tl OUE

{ruryrutr

ctLnI'IILbfF,LLUL

"zz suu u. F. Luryurtugurhlr rulnlurtr €|nrlll\urh $]rqlr\urJfr ]rhuur[rumu> anuu - ]r 2016p.

rqtrnur\urtr plnr2tlr rllr2nghtpb hur2rllrtr ]rpur\urtlugrlnq qtnultrht

'Ilururrllrpruurm' 
"ZZ SUU U. .F. LurFur\urtrlr urtnl. €]lilrur\urh shqlt\*lh ]rbuurlrnmrnu

,TINUq

Upuqlrpp / urtllurtrndp' o Qlrurur\urh h qlrurunntlutrfr\ur\urtr qnpbmhhntplurh

thpur\runntgrlurbpfr qurhqurtnui h qurpqurgmrl>

Furdlrtr 01, funr-rlp 04,4uru 01

' qhilurtr runruFErrrlh

Qtrilurtr
phpurgur-

h*nqp

?rurluturtr
rlfrurrlnpp

Ulrurlnpfr
qhhp,h*q.

+Furil

Ctr4rutlhtrp
burluuhpp,
h*q.+Furil

€ur-
t *hp

ub2uthsh\

h"+U Eutn
CPV +ruuru-
!rupqrlurh

Uh{urtrnrtlp

1 2 3 4 5 6 7

I.Uqpruhptrhp

09132100 trhtrqfrh ulphil|rnr-d trcuz t-lr*p 0.470 750.0 1 560

09211000 €urulntrlhp tt
puruhlnrBhn

trcuz ilr*ft 2.0 22.0 1 1

09211400 Onfuuhgttrutr urnr-qlh
tnLRhn

trcuz tlr*p 2.5 10.0 4

1,8424000 Qhnhngtthp trcuz qnllq 0.3 6.0 20

22810000 Qpuruhhyu\rulfrh
qhnp

trCUZ hrutn 0.5 5.0 10

241 10000
9fnlfnu\ruh
rrrFurrx+pur\urh
qurqhF

trcuz d3 3.5 418.0 120
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24711800 Uqntn hhqnr\ trcuz ilr*n 0.5 93.5 187
24326000 Ughurnh trcuz tlr*p t .2 24.0 20

24310000
Zlrdtnu\rutr
urtropquhrullurtr
phdhruhurh trlnr_php

trcuz qe 9.0 126.0 t4

24320000
Zlrtltnu\urtr
opqurtnuh*lt

gh.Ih*h*tt trlmphp

trcuz tl.*p 5.0 95.0 L9

24910000 Unufrtrd'. prydh trcuz hrrnn 0.2 1 .0 5

30190000
Qpruuhtr3ru\rulfrh
uurpprlr{npmdtrhp tr

L"ryhp
trcuz hrutn 3.0 246.0 82

302 13300 Zruilur\urFqbl
uhqruhlr

trcuz hrutn 200.0 200.0 I

30230000
Zrudur\tupqh:hhf,htt
runptr2{nr1
urxFprnt[npnr_dtthp

trcuz hurur 10.0 380.0 38

32552130 Zhnrufunuul4uqlr
ILlrlPP

trCUZ I hurtn 150.0 150.0 1

33t4tIL7 truntpur\ trcuz t*fuhfu 0.3 6.0 20

33141310 Lhprup\fr2 trcuz hruur 1 .0 4.0 4

33696550
rl

LrupnpruunF I pCUZ
pd*tt+rul1 hlnrfohp I

hurur 12.0 120.0 10

33711900 Zhqnr\ odurn I FCUZ hruur 0.5 4.0 8

33761000 9nr-qurp*tth pnr-qfd trcue hrutn 0 .1 5.0 50

34312000 3rt{lt qtnht trcuz hurur 2.0 4.0 2

38416000 pH :rutlr: tu.l*tltlt trcuz hunn 40.0 40.0 1

39221160 U\nrrnhrl trcuz hruur 1 .0 1 .0 1

39711310 hlhllurpru\rutr updhrlr trcu2 hurur 3.0 3.0 1

39224100 u,lht trcuz hurm 1.0 20.0 20

39830000 Uruppnrl
urFurru4lrruhp

trcuz huur 0.5 24.0 48

42t22130 9nh ulnilul trcu2 hurur 25.0 25.0 1

39711362 Ufrl1pnruilrp*tltl,
{runrupruh

trcuz hunn 80.0 80.0 I

31711140
h1ht1urpnrl

rupbrup/urFbufa
trcuz hurur 210.0 210.0 1

2



PLNFh+

39000000 Qpruuhtrlu\rulfrtr

\ruhntlp
trcuz hruur 78.0 78.0 I

42 131000 gfrh bnprull trcuz hruu 3.0 15.0 5

44613210 9nlt uupnrlnr-p1mtr
200 t htop

trcuz hurut 27.0 27.0 1

39712300
Chnphpfr

hhlt*pru!urtr
2nprlgtrnq urrrpp

trQUZ hunn 25.0 50.0 2

44163100 tunrlntlurhhhp trcuz d 0.2 22.0 1 1 0

44765r00 Onpu\lt .Ih*gilurh
,lrrrlp*h

trCUZ hruur 2.0 10.0 5

44500000 Crurpnrlrtthp
urrupphp lrutlrhph

trQUZ hruur 0.5 10.0 20

44500000 trtnpnq

ullru{urnru!hhp
trcuz hrlur r.2 14.4 L2

44521210 trnrlqhp trcuz hruur 2.0 20.0 10

Ctrrpurlhtrp' 3318.9
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s0750000.{hphprhh,lhft*hnpnqttruh

h qruhulurhrlurtr
brunrulmplmh

trcuz +Fuld 120.0 120.0 1

51 1 10000 hth\rnpurpfrdfnu\tuh
urupprut{nprftuh hqnpnrpS ruh

dhbur gtlurh burnrul ntpl nr-tr

trcuz +Furd 600.0 600.0 I

64100000@nuurru3htt tt
umphurtrrlu\u1frtr
burnrulnrplnr-tr

trcuz +Furil 10.0 10.0 I

79100000hprut{uprutnulprtr
brunrulmplnttr

trcuz +Furd 90.0 90.0 I

64211000Zuhprllfrtr
hhnrulunuur3frtr
bunulntplnth

trQUZ rlFrud 900.0 900.0 1

64216000 h1h\upntnulfrh
hrurlnp4uqFnllq mhhhplr
tr urhrlh\rHrn{mp3ruh
brunrul nr-p1 nrtr /hhurhphhur-
bnt,q/

trcuz +Furil 210.0 210.0 1



65 1 1 1000 tuilh1m ZFfr Fu2futtrutr
brunruln.p3mtr

trcuz +Flxil 500.0 500.0 I

6s200000e*qh pru2]uilruh tr 4ptH hhur

\*rt.l*b brunru3 nr-p1 rtrhhp
trcuz +Fluil 3000.0 3000.0 I

65300000hthQrnpru\ruhntpluh
pur2]uilrutr h rlpur hhrn

h*rt.l*b burnrul nrpl nrhtrhn

trcuz rlFruil 8000.0 8000.0 I

661 10000 trutr\ur1 |rh uq ruurup\rftutr
burnulmplmhhhp

trcuz rlFruil 15.0 15.0 I

665 16 100 U{urnilhphhrulfr
ruqurhn{urqpttrutr
brunur3mplnth

trcuz rlFruil 40.0 40.0 I

71637200 Ur{tnnr.Ihphtnulfr
nhluhlr\rullutr uurnr-qtlurh
burnulnrplnr-h

trcuz 4puril 12.0 12.0 1

79980000trrudutrnprpuqpilrutr
brunrul rr.pl mVunfuruqphp/

trcuz +Fuld 25.0 150.0 6

905 1 1200 UrlpruhrutrmpSruh
br:rnru3mplnrtr

trQUZ +Flrlil 370.0 370.0 I

90923000Zbqhhhhll I'
hrutlru drup ur \ru1 frtr
brunrulnr-plmh

trcuz rlFrrril 180.0 180.0 1

99600000

r-

9trmtl

2hruhrlfruurgnrl
br:rluuh/qnpbnupftutr
burluuhp/

q?o' +Ftrlil 1050.0 10s0.0 1

Clrrlnrdhhp' 15247.0

Utlpnrl2p /urqfnutrptrhp, brunruS nrpl nrhhhp/ 18566.0
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